
ABSTRACT 

Mining companies have big risks such as environmental pollution that 

cannot be considered easy because the former mining sites cannot be returned 

to the way they were before the activities. The company is also responsible for 

paying attention to social and environmental welfare and stabilizing the 

company’s performance. Corporate value objectives can be achieved if the 

supporting factors are met. Profitability ratio is ROE. While the company 

value ratio used is PER. There are 36 coal sub sector financial reports in BEI. 

This experimental technique documentation using specifically according to 

criteria technique. Date analysis using multiple linear regression. 

Hypothesis 1 CSR test results obtained t-test value of 3.104 significant at 

0.004 where the significant value of 0.004 below 0.05. hypothesis testing 2 

Profitability variables 2.077 with value 0.046 where significant 0.046 < 0.05. 

hypothesis testing 3 company value 5.613 with a value is 0.008 where value 

0.008 < 0.05%. CSR and Profitability have a significant effect on the 

dependent variabel.    
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ABSTRAK 

Perusahaan pertambangan punya risiko besar seperti 

pencemaran lingkungan yang tidak bisa dianggap mudah karena 

bekas tambangan tidak bisa dikembalikan seperti awal sebelum ada 

kegiatan. perusahaan juga bertanggung jawab memperhatikan 

kesejahteraan sosial dan lingkungan serta menstabilkan kinerja 

peusahaan. Tujuan nilai perusahaan dapat dicapai jika faktor 

pendukung terpenuhi. Rasio profitabilitas yakni ROE. Sedangkan 

rasio nilai perusahaan yang digunakan ialah PER. ada 36 laporan 

keuangan sub sektor batu bara di BEI. Teknik percobaan ini 

dokumentasi menggunakan teknik khusus sesuai kriteria. analisis 

data memakai regresi linier berganda. Hasil pengujian hipotesis 1 

CSR diperoleh nilai t-hitung 3,104 sebesar 0,004. dimana nilai 

signifikan 0,004 dibawah 0,05. Pengujian hipotesis 2 variabel 

profitabilitas 2,077 dengan nilai sebesar 0,046. Dimana signifikan 

0,046 < 0,05. Pengujian hipotesis 3 nilai perusahaan 5,613 dengan 

signifikan nilai adalah 0,008. Dimana 0,008 < 0,05%. CSR dan 

Profitabilitas berpengaruh signifikan pada variabel terikat. 
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